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2y  085% (+1.2bp)
S5y  127% (+0.0bp)
10y 1.76% (-0.9bp)
30y 2.50% (-1.9bp)

[7|E} 10Y=E]

¥z 1.09% (+0.7bp)
=9 0.03% (+0.7bp)
m2A 030% (+0.4bp)
o|=tz|o}  1.38% (-0.8bp)
A0l 1.08% (-2.1bp)
aglA 821% (-5.8bp)
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DOWS30 18169.27 (-0.30%)
NASDAQ 528340 (-0.50%)
S&P500 2143.16 (-0.38%)

NIKKEI225 1736525 (+0.76%)
SHANGHAI 313194 (+0.12%)

FTSE100 7017.64 (+0.45%)
DAX30 1075731 (-0.04%)
CAC40 4540.84 (-0.26%)
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oz/948 1.0886 (+0.0006)
Sz/9 11346 (+0.12)
=hej/o 104.22 (+0.05)
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SHa|/QIOF 67744 (+0.0054)
ORC/E? 121886 (-0.00443)
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[Anl  2037.17 (-0.52%)
IAAE 640.17 (-1.19%)
o

Q/=k3| 1133.50 (+2.50)
KTB 110.43 (-0.09)
LKTB 130.80 (-0.37)
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721 & /[ HEZ|CHH] / HES7|ChH]|
of B +0.55% / +2.45%
20| +0.60% / +2.60%
= = +0.60% / +2.60%

¥ (+)0.58% / (+)2.55%
A o (+)0.70% / (+)2.70%
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ly  14080% (+1.50bp)
3y  1.3980% (+1.30bp)
Sy  14600%  (+2.30bp)
10y 1.6400% (+2.80bp)
20y 1.6920%  (+2.00bp)
30y 1.6930% (+1.80bp)
50y 1.6860%  (+1.80bp)
CD  13800% (+1.00bp)

1Y -400bp (+0.30bp)
2Y -6.05bp (+1.40bp)
3Y -3.05bp (+1.70bp)
5Y -5.75bp  (+0.95bp)

10Y -15.50bp  (+1.45bp)
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1Y 1.3800%  (+2.00bp)
2Y 1.3575%  (+3.00bp)
3Y 1.3675%  (+3.00bp)
5Y 14025%  (+3.25bp)
7Y 1.4250%  (+3.50bp)
10Y 14850% (+4.25bp)

1*2Y -225 (+1.00bp)
2*3Y 100 (0.00bp)
2*5Y 450 (+0.25bp)
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3*5Y 350  (+0.25bp)
5*7Y 225 (+0.25bp)
5¥10Y 825 (+1.00bp)

*CRS =g

1Y 1.1450% (-0.50bp)

2Y 1.0350% (+0.50bp)
3Y 0.9900%  (+1.00bp)
5Y 0.9600%  (+1.50bp)
7Y 0.9050%  (+1.50bp)
10Y 0.8900% (+1.50bp)
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